15 2
. msp
(A) | VA ( B)
(Ay CO (B NH

(A) 2CusSO (B) Cus
(A) ( B)

(:A) SO (B} N

30%

30% 40%

30
VA (C) VIA (|
(C)y BCI (D)s CClI
(C) CuOOK) ( D)
(C) (D)
(Greenhouse Effect)
(C) CO (D)
(C) (D)

(A) ( B)

AFQBD, d[C]/dt

-4 [AA] / dt -d[ B{ Byt

2CaF =78. 1a@u)
(>AD0° 4.1 (B) x2083

(A) ( B)

(C) +3d3/A2 /*ddt[ B] / dt(L
250. /L5 Ksp
( C)xwa' 2 (D) x30°17
(C) (D)



10.

( A @aH ( BXXC@HCH ( ©)HCP ( E°)C BF
11. CaOs CacCO
(AA) NO (B)2 SO (C)2 CO (D) HF
12.
(2A) CO (B O ( C)yH: el (DX N
13. (el ectronegativity)
(A) (B)
(C) (D)
14. 't 't 0.5 e
t,,=5720
(A) 2860 (B) 5720 (C) 1430
15.
(A) Bas 4 ( B)( ®)a sBda CI (D) Bea( OH)
6 5 30
1.
140 7.68 0.0114
38x95x1. 792
2 .
3. “ ” sHi1 €
4 .
5.
6 . (Le Chatelier)



1. 250 NaCl 0.750M
(NaCl =58.5 amu)
NaCl(s) H,SO 4l - HCl(g) NaHSO4(s)

2. 37 7.6 atm (Ce¢H12Op) 1
( 37 )
3.
| ) OCl o) = 10 +Cl ()
b [ | [ OFl b OH
(mol /L) (mos)y L) ( mc
0.0013 x10°1 2
0.0026 x1 012
0.0013 &1 0060
0.0013 x1 018
0.0013 &1 012
0.0013 x10°1 2
0.0013 x10°1 8
4
2(g)t NGsH2 NH )
25 2N AG= -33.3 k1 w:=1.00 at

Pw.=1.00 ,at1m OPO at m

O o o o © o o



